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Equivalences and Complements
“At least x” is equivalent to “x or more” – you will get that many or more.
“At most x” is equivalent to “x or less” – you will get that many or less.

Getting at least x is the complement of getting less than x.

Getting at most x is the complement of getting more than x.

Success and Failure

We often talk about the probability of something happening. If that something happens, we can call our experiment a success.
However, if that something does not happen, we could call our experiment a failure.

Success is getting the result you want; failure is not getting the result you want.

Since there are only two outcomes, the total probability has to add up to 1:

1 = P(Success) + P(Failure)

Conditional Probability

Recall our experiment in which we drew two cards without replacement.

The probability of the second card is also known as conditional probability. Given that the first event occurred, what is the probability of the second event occurring?

The formula for conditional probability is:
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	The probability of A given B is
	The probability of A and B

	
	The probability of A
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